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(a) & acetyl-Cod 4 sk palmitate i&42 ¢ % £ NADPH, ATP, Mn", biolin,
pantothenic acid & HCOs~ % cofactors

(b) A& % €12k A5 M Bk 4 m
(c) Acetyl-CoA carboxylase f#1{t acetyl-CoA — malonyl-CoA

(d) Fatty acid synthase A t@EEa §8E(cEBEE)rFame
enzyme complex
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(c) ketone bodms%i’] acetbaoens
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dm:&butyrate A acetone
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(a) Hepatic lipase (b) lormone sensitive lipase
(c) Lipoprotein lipase (d) Pancreatic lipase

4. F@ArAeE &2 & cholesterol 4 /& bile acids i®42 § &4 M sk 8% & (kcy

enzyme )
(a) IIMG-CoA synthase (b) IMG-CoA reductase
(c) Ta-hydroxylase (d) cholesterol oxidase

5. TF ##—18 apolipoprotein B & mutation M % & s AE0F » & T AE & A ik
+ triacylglycerol 7+ &

(a) Apo A-TI (b) Apo B-48 (c) Apo CII (d) Apo E -
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6. Which of the following description is not correct.

(a) Many coenzymes are B vitamin derivatives.

(b) The activity of NAD'-dependent dehydrogenases can be assayed by
an increase in optical density at 340 nm proportionate to the
quantity of NADI formed.

(¢) Catalytic RNAs are termed ribozymes.

(d) Isozymes are physically distinct forms of the same catalytic

activity. Therefore, they are products of un-related genes.
7. Which of the following description is correct.

(a)Vuax may approximate a binding constant for the enzyme-substrate

complex.

(b) Ku has the d1men$§

(¢) Classic comp 1%?% i i tor;
(d) The substrat@pmc ts @t r
termed the V",

(a) D-Glucose (b) Glycoéggigggﬁﬂgﬂ$hose (d) D-Ribulose
9. The citric acid cycle is amphibolic, since it takes part in some
metabolic pathways. However, which of the following pathway is not
included?
(a)fatty acid synthesis (b) glycogenesis (c) gluconeogenesis (d)
transamination
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10. Which of the following description is not correct.

(a) 2,3-BPG decreases the affinity of hemoglobin for oxygen in red
blood cells.

(b) Pyruvate kinase deficiency in red blood cells causes hemolytic
anemia.

(¢) Number of ATP formed per mole of glucose under aerobic conditions
in red blood cells is 38.

(d)Pyruvate is oxidized to acetyl-CoA by pyruvate dehydrogenase.
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11. Some hormones convey information to the inside of the cell via G proteins. This
process always involves:
(a) cAMP production  (b) ATP binding (c¢) GTP hydrolysis
(d) protein dimerization (e) release of intracellular calcium
12. Epidermal growth [actor does not stimulate which of the following
kinase activity.
(a) protein kinase A (b) protein kinase C (c) tyrosine kinase (d)
calcium-dependent protein kinase () phosphotidyl inositol-3-kinase
13. Which of the following enzymes are located on the inner membrane?
(a) acyl-CoA dehydrogenase (b) isocitrate dehydrogenase
(c) o-ketoglutarate dehydrogenase (d) NADH dehydrogenase
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14. Eplnephrlne is formec‘;) }t‘cl %by
g Gﬁﬁ methylation
(d) deamlnatloy@ 6
15. Which of the fo@%own g mo
bilayer? :‘ »
(a) ILO (b) g&mﬁo
16. Which of the folfgw
high-energy phosp@gtg}ﬂ
(a) succinyl-CoA (b%ﬁ | o
(d) glycerol 3- phosphate
17. Which of the following amino-acid residue has not been found
covalently linked to the glycan moiety of a glycoprotein molecule:
(a) Asn (b) Arg (c) Gly (d) Thr
18. Which of the following amino-acid residue in a protein molecule can
be modified by a protein kinase:
(a) Tyr (b) Arg (c) Asp (d) Trp
19. What is the most unlikely outcome of a human cell one time exposed to
a chemical carcinogen:
(a) cancer (b) apoptosis (c¢) p53 activation (d) mutation
20. Which of the following likely is not displayed in cancer cells:
(a) transformation (b) telomere elongation
(¢) unconirolled cell growth (d) senescence.
2. T4t £ 5 5 £ a-amanitin #FArip#l
(a) RNA polymerase I (b) RNA polymerase 11
(c) RNA polymerase 111 (d) DNA polymerase I1]
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' 22. A7l OKAZAKD fragment &
(a) DNA 45 % 83 47 H &7 RNA primer (b) DNA polymeraselll &4 1tk 8 43tk
(c) £ DNA ik pis e A ¥  (d) 4 Lagging Strand 74 & DNA
H &
2. AWM B B 2 AR, ToldtiTHEadE?
(a) Fi# & nRNA % % monocistronic, R4 K E—E o Y
(b) FAEMEY A nRNA BT Gl o4 s fTHEA R & dd
(c) f#1t4dsk ey 8% % A DNA-dependent RNA polymerase
(d) # Genetic code #v B A% 4 Mda s & — 4 4
24 t-RNA £ R G H & % M2 A “Adaptor” A E A
(a) tRNA T 4§ 50s & 30s ribisomal subunits 44 £ —4c
(b) tRNA =T “READ” mRNA Ff-ﬂ.&m T 38 % 45 e A Bk
(c) LRNA T4 ¢y ammﬁécyk_@jmglth *té_?_e Recognize”, # &% charged
tRNA .

(a) AP, GIP (b)i,TP
26, Atztmlp polyadeyiat‘}o
(a) AUAAAA (b, ! 2
(c) AAAUAA % )({g;ag?m‘-_—r’ &
27. meABE2 codon R % —Bgh, =+
{a) &rg  Kb) Trp  (c) Llu’ﬂﬂ(%) Pro
28. —#% tRNA B4 nucleotides 2 3B &
(a) 40 (b) 80 (c) 120 (d) 160
29. AMtahpz DNA i 47 splicing 85+ & Exon # Intron # Motif> # Sequence

A
(a) -GA(Intron)GU- (b) -GU(Intron)GA-
(c) -GACIntron)UG- (d) -GU(Intron)AG-

30. S EMntmhna r-RNAs © r-28S>r-185-r5.85  r-5S #mif ot =M@
% M. —18 precursor » £ =18 4 :

(a) r-28S» r-18S # r5. 8S (b) r-18S » r-5. 8S # r5S

(c) r-28S  r-5. 8S # r5S (d) r-28S - r-18S 4 r58
3l. Trypsin iMl&Z e ®ef > e A&

0 0

(a) "‘FfNHfArg (b) Arg~g—~4’— (c) Aspfg—ir (d) -?-—NH-Asp

32.Catalase z £ # substrate %

(@) 10 (b) 02 (c) M0z (d)-OH
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A FSRurea 5 EE
(a) =& enzymes (b) =4& enzymes (c) wié enzymes (d) HiE
enzymes

F %] amino acid 47 # %70 Transamination & &7
(a) Ser (B) Proo (e) Thr (d) Lys
Collagen = —#EEGH » X &5 H L

(a) ATBE (b)) wBk (c) AF (d) w%

F 5 H MASE(uric acid)z 40k » T2 A Eek
(a) A8&& thymidine = 542 &4

(b) RBgEh % &% 8 Gout zi-f-ﬁiﬁl

(c) Hypoxanthine £ xanthi.
(d) FRBET&H urlcasgﬁ%ﬁi y
T4 ME. coli Du@‘%g
(a) DNA 35 ¥ &4 Ht A5k
(b) DNA a‘mg%ﬁ’% R
(c) DNA ai!ié’:mgz; ke
(d) & ¥edss lagg*@gfs f
DNA double helix 2%5} | :

(a) Southern (h) bﬁ{p"’v‘(gg o @1%ﬂ?‘allolllday
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(a) Mismatch repair
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—#% repair

(b) Base excision repair

(c) Nucleotide excision repair

(d) Double strand break repair

Mammalian cell cycle #9838 — RS £% i 7 DNA 4 &
(a) Gl (b) G2 (c) M (d) S
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